L o] =] §A syt

3 3 3
FoL,1-L, 2>
977979

77

7}, 1, o 3 719 =20

1.

R PR E e R

=l

A

ull
KO

A

= 4(L)

(=2l =

3 3 3
2112 492
9 719 T4




5 _
3-15-|_|

@2§
6

— |©

@12
6

@2§
6

1
O 3=
6




61—51111 o] &3 5%111 o] & ofofA ZolE AAHY 10—m A5
. ol ol 7] ) 9] dolo] et 2 m 7 HobEA
kA 2.
6 10 8
1_ _ J—
@ 611m @ 151 ® 11m
5 7 ) 6 12 (§ 6




o},

U
5 2}o] 7] £},

o]
H

Zte) A7) oz

ol ofzfe] of

o

)

=

Ay

N
~H
N

FAF

@

i

ol
L

J




> He




@ (1)0.11  (2) 0.27 @(1) 0.101  (2) 0.027
® (1) 0.011 (2) 0.27 @ (1) 0.110 (2) 0.027

® (1) 1.01 (2) 0.27

(= 0.001) ©] 10121 5=¢JUc},
TebA —— & 248 YERE 0.101 Yyt
(2) o 2 (= 0.001)©] 2791 4= YU},

22 LR 0.027 o]t

§=
gy
|
i
B




7. the F uhEd Uehd AL oln AIA] LEA L.

D 1132m = 11.32km @54.1 kg = 54100 g
® 3km 90m = 3.9km @ 1.13kg=113g

® 17.02cm = 1702 mm

~&B

1m = 0.001km, 1g = 0.001kg, 1mm = 0.1cm

@ 1132m = (1132 x 0.001) km = 1.132km

® 3km90m = 3090 m = (3090 x 0.001) km = 3.09 km
@ 1.13kg = (1.13x 1000) g = 1130 g

® 17.02cm = (17.02 X 10) mm = 170.2 mm
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(1) 605cm =] |m
(2) 3km 350m =[_|km

D (1) 605 (2) 3350 @ (1) 6.05 (2) 3.035

@) 6.05 (2) 3.35 @ (1) 6.5 (2) 3.305
® (1) 6.5 (2) 3.35

~&B

1
100cm = 1m,1000m = lcm /2% lecm = —— ,1m =
100 m
—— km ©|T.
Too0 < 1%
605
1) 605 = — = 6.05
(1) cm = J55 m m
3350
(2) 3km350m = 3350m = —— km = 3.35km

1000




9. il gt A9l Aol 045 m FU Tt HolAl stuztA] 600 A2
o
=

1km = 1000 m, 1 m = 0.001 km
oA stu7tx] o] Ae :
0.45(m) X 600 = 270(m)

270m = 0.27 km
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4.639F 4.64A101 8 10 T2 QOB R 212 =5 9 719
7] 0.001 4 Yt
webd AR [ [ 463004 Ze BF 27 A 9]2]o]
QOB 463+ 0.002 =4.632 T}

SRR Je4640]4 B 2L 67 AT Ao gom
2 4.64 + 0.006 = 4.646 JYtt.
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@ 10.1-3.64

© 527+ 1.79

© 8.02-0.55
® ©-0© @ 9-0-© 3)6-6-0
@ ©-©-9 ® ©9-0

B

@ 10.1 - 3.64 = 6.46
© 5.27 + 1.79 = 7.06
© 8.02—0.55 = 7.47
A, & Sn

© 7.47, © 7.06, @ 6.46 ©|T}.
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12. 371& 8laste] O ¢oll >, =, <& g3 MY e e,

3.86 + 1.55 = 5.41
10.2 - 5.42 = 4.78
whebA] 3.86 + 1.55 > 10.2 — 5.42
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